Resolucoes

Reducao ao 1° quadrante

\ ATIVIDADES PARA SALA
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ATIVIDADES PROPOSTAS
(—cosx) - (cosx) )
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-1+1=0

TRIGONOMETRIA
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b) sec (—240°) = sec 240° = = = =2
cos 240° —cosé0° 1
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Q) tg (-960°) = —tg 960° = —tg 240° = —tg 60° = —/3
d) cotg (- 1200°) = —cotg 1200° = —cotg 120° =
1 1 3 3
— (—cotg 60° tg 60° = - Y2 _N°
(—cotg 60°) = cotg 9= B3
e) cos (—45°) =cos 45°= g
f) cossec (-60°) = —cossec 60° = - =
sen 60°
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Pela condicdo dada, tem-se:
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TRIGONOMETRIA
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Portanto: cos (g - y) =seny= ¥
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Como cos E—oc =sen o, tem-se:
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cos 225° + tg (- 240°) = —g—\/_ = _(\/§+§J
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